Subtraction Crossing 10 2 Subtraction Crossing 10 2

9a. Write the calculation to match the ten | 9b. Write the calculation to match the ten
frames. frames.
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10a. There were 15 chocolates in a box. 10b. There were 12 trains at a station.
7 of them melted. \e‘ 5 of them drove away.
How many are left? How many are left?
-2 -5 -3 -2
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11a. Use the bar model to find the 11b. Use the bar model to find the
difference between 13 and 6. difference between 16 and 9.
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12a. Write a calculation to match the 12b. Write a calculation to match the
statement below. statement below.
There were 12 slices of There were 15 crabs on a
pizza at a party. 2 were beach. 5 crawled away
eaten and 5 were taken in the morning and 4
home. crawled away at night.
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